Seat No. / Enrolment No.:

Subject Code: 4341901

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 4 (NEW) - EXAMINATION — Summer-2024

Subject Name: Estimating, Costing And Engineering Contracting

Time: 02:30 PM TO 05:00 PM

Instructions:
Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Define Breakeven Point. Write limitation of Break even Analysis
W s8dsl Ul A uAlRld 5. A5 Sael Wt L[ER1Ae1l Haulel qul.
Calculate mass of cylinder having 1m diameter and 1 m height. Density of
material is 7800 kg/m®.
14122 Ul W 1 Hl2R QUL tRlddl [R[EeSRell £01efl 2R1d?] $R1.
U2 [Ruds{l esidl 7800 kg/m? B.
What is Safety margin related to break even analysis? State importance of it.
Calculate safety margin for given data. Fixed cost is X 10,000. Variable cost
per unit is X 2. Selling price per unit is X 4. Sales are 8000 units.
A5 Sdlet Wt 1(C R A0i(td A5S] 1L Q) B. dof Hecd quil. w10G 3L HIR2
Q52| HLesetef] 2L 52). (5525 [(5Hdl % 10,000 8. A sH €16 dIAWE (FHd 22
8. uld Y12 AUl (EHd T4 B. AU 8000 W5 B.

OR
A shoe factory produces 50000 units’ pair of shoes. Total sales are X
80,00,000. Variable cost is 55,00,000. Fixed cost of factory is X 10,00,000.
Find BEP by analytically and graphically.
ope+il 3523 uld 9y 50000 Y(eie 1Sl e Wstld B, §6 AUl T 80,00,000 B,
ARuE (5Hd 55,00,000 8. $silell (5525 [SHd % 10,00,000 8. Wetl(@]sel
A AL[554] 2L BEP 20l

Define estimating. Write function of Estimator.

199 WA cAlVARld 53, viel)d W SlaetlRe] s1L quil.

A machine is purchased for X 40,000. The estimated life of machine is 15
years and scrap value is X15,000. If Rate of Interest on the depreciation fund
is charged at 8 %. Calculate the rate of depreciation per year by straight line
& sinking fund method.

A5 4ot 2. 40,0004 WlecIHi w1d 8. Hellste] iell¥d 2414WL 15 AN B wa
¥U Y& . 15,000 8. %) MAYRel §5 UR cU[o¥si] £2 8% dyadiHi 2419 8. Al
Fuil A Ril59L 65 U d gl Uld aN AdH&Ustel] g20{] A7) 53).

The market price of a lathe is %5,00,000 and the discount allowed to the
distributor is 20% of the market price. It is found that the selling expenses cost
Is ¥4 the factory cost and if the material cost, labour cost and factory overhead
charges are in the ratio of 1:4:2; what profit is made by the factory on each
lathe, if the material cost is X 40000? Neglect other overheads.

Date: 11-06-2024

Total Marks: 70
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Qeefl womR ($Hd % 500,000 8 wal [SElogeral WIUdIM] wldg (S81G2
WosR (SHdloll 20% 8. g QLR B 3 AU W, Wl 3523 Wlsil v Bedl 8
ugel %) HE1Z1UE WL, HH WL 2l 3523] BNARES UL 1:4:2 o1l ARNAML B )
U2lRludefl (5Ud 340000 €A dl 5523l €35 Aol UR 324l o8] eld 8?2 W
{1 dRESYU AR

OR
Give types of continuous operation costing and explain anyone.
5214 WURRUsAsAL USIRL AU wal S1EURL A5 yHd).
Market price of a pattern is X 1000. Discount offered on market price is nil.
Material cost, labour and overheads are in proportion of 1:2:3. If labour cost
IS Rs.200 per pattern then calculate the profit per pattern.
Ueolofl wiogl2 (SHd % 1000 8. 62 (BHd UR w162 5A4 (S51Ge 2ol 8.
H2UGeA] (Bd, - we 3dESU 1:2:3 el UHIRIHI B, o) 814 W Vel €lo
%200 €14 d) Vel €16 «islefl ARl 52
If prime cost of 1000 sheet metal boxes is X 1,50,000; factory overhead is 40%
of the prime cost, administrative overhead is 30% of the factory cost and
selling overheads is 20% of the office cost then to earn profit of 10% of the
total cost, find the selling price of one sheet metal box.
2l 1000 2ile Ned ollsdsdl UlsH sl %1,50,000 8; $523] wldRES, UlsH
sleell 40% 8, ddldl]l wld&s, 3523l Wl 30% & el AUl WNdRES,
(51 WAl 20% B dl 56 Well 10% «15) Aoddl HI2, A s 20le Hed wllsus{l
AY1QL [54d 2] .

List different types of forging losses and explain any one of it.
[c(ad uslReil 511 dlefl AIE] totld) WA AHieAl S1TURL WS UHos1Al.
Define forging. List types of forging and explain any one of it.
S1(E5L LA L[Ad 530, 511l USR] ALE] odellcl A AMistl S1SURL A sa
YHomdl.
Define pattern and Using following data find out the cost of cast iron pulley
having 1250 cm?® volume (pattern is supplied by customer)
1. Material cost X 12/kg
2. Labour cost X 60/day
3. Density of C. 1 7.2 gram/CC
4. Overhead charges 15% of material cost.
5. Melting charges 20% of material cost.
6. Nos of mould 20/day/Moulder
Yool clulRld 521w «{1Astl Seleil GUALL 531 1250 A2 dleyy blddl
sie wldel ydlefl (Bud ul.@edd Ales GlRL AE| sdMi w1d 8) 1.
Aol (5Ud T 12/(560) 2. 4ol (SHd T 60/(ed 3. C. 1 +il ol 7.2 AM /CC
4. 3185 L%, HAIRUE Wetl 150% 8. 5. A(€32] UL°S, UHALeAl Wieil 20% B.
6. Hlesefl vl 20/(eduHlesR

OR
List pattern allowance and explain anyone.
Yool A6 ldaiof] YA Woildl A S1EURL A5 Yuod).
List types of forging operations. Explain any three-forging operation.
1[50 viluetell USR] Y[R odetld). S1EURL ARL SL(F1 w1ULlst AHosA).
A Hexagonal cross section bar having each side 2 cm is to be produced from
a square bar of 4cm side and 30 cm length. Consider scale loss 7% of total
volume. Neglect other losses. Cost of produced hexagonal bar is ¥ 100/metre.
Calculate Cost for a hexagonal bar.
4 Q] 64190 ol 30 A.H] dodlefell ARY WU ] €35 1% 2 AL tRlddl N2 slel
WIR wsilddlell 8. ¥ 4l §6 dlRHsil 7% Q1. Wt Gy AWA2ARL. Gaulled

09

03
03
04

oY

07

09

03
03
04
oY

07

09

03
03
04
oY
07

09



Q.4 (3
uald ()
(b)
(W)

(©)

(5

Q.4 (a)

Usld ()
(b)

()

(©)

©)

Q5 (@
Usls ()
(b)

(W)

()

(5)

E5ULNeAd GlIRell [$Hd T 100/metre Sl dl A5 E5ULAE iR HI [EHds(]
J1RLd3] 3.

Explain procedure of estimating cost elements for Arc welding.

¥15 AesaL HIR2 el WA deslsfl d Ao,

Find welding length for making a rectangular frame (fig.1) for gate of 2mX1m

from angle iron size 30mm X 30mm X 5mm. welding is to be done on both

sides.

30mm X 30mm X 5mm A4 W[l ALSH] 2mX1m eil A2 HI2 dul Fu

(L5[de) letladl Hie AE5o1 dule 2Le. AESIIL tial vl 5c Lo B,

An open tank of size 50X50X50 cm? is to be welded by arc welding. Size of

sheet is to be used 50cm X 50cm X 3cm. welding is to be done inner side only.

Estimate welding cost using following data.

1. Welding speed = 12 min/m

2. Electrode consumption rate = 0.6 m/meter welding.

3. Fatigue allowance= 5%

4. Electrode wastage = 20 %

5. Labour charge = Rs. 5/hour

6. Electrode cost rate = Rs. 3/meter

50x50x50 cm?® Steil A s ujed] 2isl w15 AlESl gl dUR slefl | Bell HI2

50cm X 50cm X 3cm HIUeil {12 Gl 521.(AESIoL §5d vierefl 1ogei] o $2dls]

). «{1A WG 3elell GuAlaL 53] A5 Sl Biellrd WA 20k, (i) AlEsal

1S 12 min/m (i) 8A52LS dURILL €= 0.6 m/m AES (iii) ULS 128 = 5% (iv)

8521501l WIILS = 20% (V) HH MId ==, 5/561S (vi) 9A521S [EHd = 2. 3/{l2R
OR

Write down formula of time calculation for grinding operation and shaping

operation.

ALDeSTL 31Ut W AUTIL WNURLel HIS AHYeA] AR Yot Gud).

Estimate the time required to drill 4 holes of 1 cm diameter in a plate. Hole

depth is 2 cm, cutting speed is 15 m/min and feed is 0.01 cm/rev.

Weri 1 AH] culetl 4 (9] (96 sdl UL %ed] qHUA viely slel. [B9¢ell

G182 AL B, siudisil »su 15 Hley/ M2 & w44 §150.01 A Rd). 8.

List out operation which can perform on job in various shops in workshop.

Also list out other time consideration (except machining time) while

performing machine shop operations.

aselluHi (aldy UM elofletlElod) U 53] 203 ddl viluelstel]l ALE] olatld).

Hollel UM ¥1uR2let scil duda We UL UHAsA] AR s3] (HLll (1t qHy

(Rect1d) defl YR waildl.

Write cost elements of an ice plant.
626 3523Nell W €12 8] gud).
List types of contract and explain any three of it.
5L USIRLeAl ALEL Watld] 1l AHicll S1EURL AR A [HHI Mol
A thermal power plant produces 80 MW to satisfy maximum demand. Capital
cost of power plant per kW is X 18000. Interest and depreciation rate is 12%.
Load factor of plant is 40%. Estimate power cost per unit for power produced
by this plant. Operating cost X2.39/kWh.
2Hq UldR W2 HetdH Hidlel ddlNdl HI2 80 Rolldles] Gaulesl 53 . UldR
W losfl Y (SHd Wld kw T 18000 8. c1% W AU €2 12% B. WleR €S
3522 40% B, WL W lo2 gL GUllEd UldR HI2 Y12 €16 dfloy uilell vig 1oy 513\
UL W %2.39/KWh.

OR
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Explain E-Tendering process.
8-2o532L WlsUl qued).

Write steps for estimation of power generation by Diesel generating set.

Sl =211 A2 gL 1o Gallesioll viel Hieli Uddi dul.
Explain seven various types of budgets in detail.
Ald [alay usRetl wegaa [doldd i yuesdl.

fig.1
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